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The Association of Neanderthal and Modern Sapien

While the Neandertal existence first began approximately 300kya and continued until about 10kya, there is evidence that Modern Homo sapien came into being approximately 107 – 115kya. And with the dates that are currently given, there is the distinct possibility that they may have existed in some of the same places at the same time. There are constant debates within the academic arena regarding how Neandertal and modern Homo sapiens may have possibly interacted with each other. Speculative theories range from the possibility of inter-species crossbreeding which may have created a form of hybridization between the two to absolutely little or no interaction whatsoever. 

From evidence uncovered at some archeological digs within sites in France, there have been apparent exchanges of technology in which Neandertal had borrowed technology and tools from their contacts with the modern Homo and were able to modify their own tools. These modifications led to the creation of the Chatelperronian industry. Whereas Neandertal was relatively confined to an area of approximately 4,000 miles (extending from France eastwardly into Asia), modern Homo sapien could be found almost everywhere. Also, because of a discovery at the Abrigo do Lafar Velhho site in central western Portugal, evidence shows that there has been crossbreeding evidently between both Neandertal and Modern Homo. Hence, the exchange of some degree between Homo neanderthalensis and modern Homo sapien is extremely relevant. 

The discovery at the Abrigo do Lafar Velhho site in 1998 was that of a 4 year old boy who has some very peculiar physical attributes which caused much thought as to his origin. On the one hand, the child had many traits (the teeth, lower jaw, and pelvis) that could be found upon that belonging to a modern Homo sapien. However, the lack of a visible chin, his limb proportions, and muscle attachments are distinctly Neandertal. What anthropologists find most intriguing is that this child’s remains were dated to 24.5kya, which is 5000 years after the last known existence of Neandertal. With this discovery, it is possible to say that the genetic makeup that existed between both Neandertal and modern Homo sapiens were compatible enough to be able to create a hybridized individual that would wind up possessing a combination of traits from both. This hybridization between the two could also be a secondary definition to the partial replacement hypothesis, which may also be the possible reason or explanation as to the disappearance of Neandertal. 

From the St. Cesaire, France, Zafarraya, Spain, and Vindija, Croatia sites we find evidence that indicates that Neandertal had borrowed tools and technology in their encounters with modern Homo sapiens and had adapted that technology to modify their own tools. The tool adaptations were found in the toolkits that would mark the beginnings of the Chatelperronian tool industry, which would be found in southern France and Spain. The coming of this new advance in technology also marked the disappearance of the Mousterian industrial era.

There is the possibility that both Neandertal and modern Homo sapiens may have had chance encounters with each other while they were out hunting for game. Even though Neandertal’s diet consisted of 85% meat, it was evident that they both ate the same types and species of animals as well as modified the bones for different tool uses. It is the thought of some anthropologists that Neandertal may have had a tendency to overly exploit the natural resources from whatever area they may have inhabited. With their incessant need to have more, they would wind up starving themselves, as their desire for more and more meat would kill off the entire population of a given herd within a respected area. Homo sapiens, on the other hand didn’t find it necessary to have to commit over-kill of the animals in the areas they occupied. Because of the fact that modern Homo sapiens were seasonal hunters, it was evident that they took what they needed and left the rest. In a sense, this gave them a sense of balance with the rest of nature around them. If one were to base the actions of the Neandertal against that of modern Homo sapiens, it would be relatively easy to assume the reasons as to why Neandertal eventually vanished whereas modern Homo sapiens continued to thrive and flourish.

Although populations of Neandertals may well have had a somewhat peaceful coexistence with the modern Homo sapiens, other populations may have completely avoided modern H.s. altogether. However, due to the evidence discovered throughout the years, especially with the discovery of the Chatelperronian tool kit and Portugal boy, evidence points toward some sort of interaction between Neandertal and modern Homo sapien. Although the possibility of a chance meeting during a hunt cannot prove direct or indirect interaction existed, the fact that there was any kind of interaction between the two cannot be entirely overlooked.

